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M5 FE E

TS FERREZEEFEMERMBIRITE (F2R)

IR b kg )

& % wEZEE

17 B ZEEEEXE
= B ZEEEEXE
BEo#M”Y IEE
BEES 18-12-23-020



BHEERNRE SHSEEEMZ S B ERERINRN B TE(F2R)

& Lo g - AR B ¥ =2 B € ¥ W =
EEIEE 707, 757, 080
(1 IR] 707, 757, 080
AR R T 707, 757, 080
WEHHET 707, 757, 080
HHmEOT (EHX) 702, 967, 080
1-1 BIFLT () L=9. 90m 913.00 182, 636. 95 166, 747, 535
&
1-2 BIFLT L=8. 30m 67.00 178, 812. 68 11,980, 449
&
1-3 ZAI () HEREYG L=7. 70m 913.00 340, 000. 00 310, 420, 000
&
1-4 EAI () HEREIS L=6. 20m 67.00 338, 000. 00 22, 646, 000
&
1-5 ZAMEE 2, 986. 00 26, 820. 00 80, 084, 520
m3
1-6 EfR/KERT 246. 00 50, 960. 00 12,536, 160
B
1-7 #E@BHRI (2-47°591) 1.00 19, 255, 900. 00 19, 255, 900
%
1-8 HEEF 2,835. 00 2, 949.00 8,360, 415
m3
1-9 ZLavEET 1.00 15, 440, 000. 00 15, 440, 000
%
1-10 ZLa 48l T 246. 00 89, 320. 00 21,972,720
B
1-11 BIFL 75 > hESL - RIAT HlFL#2t 1.00 1,263, 000. 00 1,263, 000
=%
1-12 BIFL. 7S > hMRIAT HIFL#2E v 1.00 631, 700. 00 631, 700
=%
1-13 EA TS o M - BRI 275 MRYT 1.00 9, 394, 000. 00 9,394, 000
=%




BHEERNRE SHSEEEMZ S B ERERINRN B TE(F2R)

1-14 FATS Y MEKRT 275 MRS 1.00 4,006, 000. 00 4,006, 000
=
1-15 HkE BRI k) 1.00 17,180, 000. 00 17,180, 000
=
1-16 HERE 1.00 637, 480. 00 637, 480
=
1-17 HEx A H L& 40.00 1,574 62, 960
m3
1-18 HELiEHE EIE~RES 40.00 1,973 78,920
m3
1-19 BETSRXFu V&R -8 (JL EEVY—F~Ln5 2.00 11, 490 22,980
%)
]
1-20 HEHFRERA GREILZIL) EEVY—F 142.00 204. 8 29, 081
m3
1-21 HEHFREM GZEILZIL) v — F~05i5 142.00 1,530 217, 260
m3
e 4,790, 000
1-22 g?%xa‘ v nE (JLay 368. 00 8, 000. 00 2,944,000
m3
1-23 HHFRLDE GRELZIL) 142.00 13, 000. 00 1, 846, 000
m3
HEREE FEL) 38,710, 836
B R K 38,710, 836
B R K 38,710, 836
EigE 25, 567, 200
EEREMERE 25, 567, 200
1-24 EfRE CPG#& 44 1.00 25, 567, 200. 00 25, 567, 200
=
ZeE 13,143, 636
R EEREA 12, 740, 000




AHBERNRE SHSEEEMEEFERGHMBIBRIE (F2R)

1-25 TRAEIEEHA (1) EhE 1.00 10, 850, 000. 00 10, 850, 000

=%
1-26 7RMEIMEHA (2) B 1.00 1, 890, 000. 00 1,890, 000

=
EERE 403, 636
1-27 EERER () BlFL2/8—T 1 1.00 163, 636. 00 163, 636

=%
1-28 HEREE (2) BIFL2/S—F « 1.00 240, 000. 00 240, 000

=®
HEE 1,399, 750
TEAEER 1,399, 750
HiERE 761, 830
HERE 761, 830
FryvsR—yvy 366, 600
2-1 EER—U 25 () Bt ¢ 66mm 1.70 27, 300. 00 46, 410

m
2-2 EER—1 2T () #t - Lk @66mm 1.80 17, 000. 00 30, 600

m
2-3 BEER—1 2T (3) B-wEL  ¢66mn 14.70 19, 700. 00 289, 590

m
RLIBHE 189, 000
2-4 ZEE AR - wEL 15.00 12, 600. 00 189, 000

[=]
TEHE 206, 230
2-5 WMEAER 1.00 206, 230. 00 206, 230

=®
FiERE 637,920
FiERE 637,920




BHEERNRE SHSEEEMZ S B ERERINRN B TE(F2R)

%K 229, 600

2-6 FrE%(E 1.00 229, 600. 00 229, 600
=

RBi5 168, 800

2-7 BRi5RER 2.00 84, 400. 00 168, 800
BT

Bk 203,916

2-8 BE 1.00 18,173.00 18,173
=

2-9 HEMIEHK 1.00 155, 650. 00 155, 650
=

2-10 EBHLEK 1.00 30, 093. 00 30, 093
=

REFEAE 18, 000

2-11 FAEFLEAZE 2.00 9, 000. 00 18, 000
BT

HEIEHE 5,332

2-12 ETEEE 1.00 5,332.00 5,332
=

BEREK 12,272

2-13 BERKRN =T« 1.00 12,272.00 12,272
=




BHEERER

THSFERREERREREMBRRTE (F21)

% g I - BIRTR Bif 2 il & & S
BEEIZE 707, 757, 080
METIE# 81,019,859 + 218,491,212 299, 511,071
HBEREE GDH 38,710,836 + 40,129,826 + 2,179,197 81,019, 859
HBEREE (FLE) 38,710, 836
HdfrE®E (%) 707,757,080 x 5.67% ((4.23% x 1.3) x 1.03) 40, 129, 826
RERERER 702,967,080 x 0.31% 2,179,197
HisERa 788,776,939 x 27.70% ((22.19% x 1.2) x 1.04) 218,491,212
TEHRE 707,757,080 + 299,511,071 1,007, 268, 151
—REEES 1,007,268, 151 x 12.10% (12.10% x 1.00) — 504 121,878, 942
R E 1,007, 268, 151 x 0.04% 402, 907
TH1ms 1,007,268, 151 + 121,878,942 + 402, 907 1,129, 550, 000
EENAEE 761,830
HizREE 637, 920
HEEE 1,399,750 x 57.6% — 6,006 800, 250
—WREEBE 761,830 + 637,920 + 800, 250 2, 200, 000
REERE 2,200, 000
BEHE% 1,129, 550,000 + 2,200, 000 1,131,750, 000
HERERAE 1,131,750,000 x 10.00% 113, 175, 000
FEIEE 1,244, 925, 000




BfR-BEI/\vsr—>

S FEEERAERFERERMBARTIE(F2R)

&5 :1-1
A% HIFLT (1) L=9.90m 913KHY
2 b g - BIRTE BT H = B oO(f ® # " =
EIlFLT (1)1
ZN 242.000 178, 700. 00 43, 245, 400
HIFLT (1)-2
ZN 334. 000 180, 850. 00 60, 403, 900
HIlFLT (1)-3
ZN 141. 000 180, 750. 00 25,485, 750
BIFLT (1)-4
ZN 145. 000 193, 297. 87 28,028, 191
HIFLT (1)-5
ZN 51.000 187,927. 46 9, 584, 300
& Hi 1YEZHED - 913. 00K 182, 636. 95 166, 747, 541
FHEEENEE - HY THIERS - EiEfEE (1. 500]
FHE—EWHE T L BERAFIRIIC R HHWIE - &L
&5 :1-2
%5 HIFLT (2) L=8.30m 67TALY
2 b g - BIRTE BT H = B oO(f ® # " =
HIlFLT (2)-1
ZN 8. 000 178, 550. 00 1,428, 400
HIFLT (2)-2
ZN 19. 000 179, 750. 00 3,415, 250
HIFLT (2)-3
ZN 32.000 178, 900. 00 5,724, 800
HIFLT (2)-4
ZN 8. 000 176, 500. 00 1,412,000
& Hi 1EZHES - 67.00K 178, 812. 68 11, 980, 450

FEEMNEE HY
FHE—IEWHE : TL

FHIERE - EHHERE (1. 500]

ErfROHIFIC & B4 - 1L




BfR-BEI/\vsr—>

S FEEERAERFERERMBARTIE(F2R)

&5 :1-3
W EATA) HBENY L=7.70m 4KEY
£ 5 g - BIRTiE BAf H = L= i & # i i

TAR—AEtHEER

A 1.000 41,110. 00 41,110
BREx£a

A 7.000 37,010. 00 259,070
TEFEE

A 2.000 32, 760. 00 65, 520
BIEBF

A 1.000 35, 210. 00 35,210
CPG7° 5 MEER 2B *fE

B 1.000 74, 990. 00 74,990
CPGH" V7" s&Er 8MN/m2 1.8m3/h

B 2.000 49, 480. 00 98, 960
EAE)INEEEER ¢ 73mmAd

B 2.000 10, 400. 00 20, 800
RAENEEREE Eer CPG-K100R

B 2.000 12, 370. 00 24, 740
ho-vEEBE Ty )EER 4tFE. 2.9tR

B 1.000 52,310. 00 52,310
3 -718 R 28t¥&

B 1.000 250, 000. 00 250, 000
fAKEEER 3, 800L

B 1.000 48, 570. 00 48,570
EAREEMEE

m3 11.726 3, 356. 00 39, 352

HMB(ELELDH) FIEHERD %

% 36. 000 971, 280. 00 349, 368
& Hi 1E%HEDH : 4. 00K 340, 000. 00 1, 360, 000
FEEMNEE HY FHIEMRE  EiEIERE[1.500]
FHE—IEWEE 2L EEREIAEIFIIC K ZH|IE - B L




BfR-BEI/\vsr—>

S FEEERAERFERERMBARTIE(F2R)

&5 :1-4
B EATQ) HBHENY L=6.20m 4KEY
£ 5 g - BIRTiE BAf H = L= i & # i i

TAR—AEtHEER

A 1.000 41,110. 00 41,110
BREx£a

A 7.000 37,010. 00 259,070
TEFEE

A 2.000 32, 760. 00 65, 520
BIEBF

A 1.000 35, 210. 00 35,210
CPG7° 5 MEER 2B *fE

B 1.000 74, 990. 00 74,990
CPGH" V7" s&Er 8MN/m2 1.8m3/h

B 2.000 49, 480. 00 98, 960
EAE)INEEEER ¢ 73mmAd

B 2.000 10, 400. 00 20, 800
RAENEEREE Eer CPG-K100R

B 2.000 12, 370. 00 24, 740
ho-vEEBE Ty )EER 4tFE. 2.9tR

B 1.000 52,310. 00 52,310
3 -718 R 28t¥&

B 1.000 250, 000. 00 250, 000
fAKEEER 3, 800L

B 1.000 48, 570. 00 48,570
EAREEMEE

m3 9. 442 3, 356. 00 31, 687

HMB(ELELDH) FIEHERD %

% 36. 000 971, 280. 00 349,033
& Hi 1E%HEDH : 4. 00K 338, 000. 00 1,352, 000
FEEMNEE HY FHIEMRE  EiEIERE[1.500]
FHE—IEWEE 2L EEREIAEIFIIC K ZH|IE - B L




BfR-BEI/\vsr—>

S FEEERAERFERERMBARTIE(F2R)

&S .15
B EAMBE m3&Y (Im3)
£ 5 g - BIRTiE BAf H = L= i & # i " =
AV REEF EIFtAVIBE /NS
t 0. 160 11, 200. 00 1,792
CPGE#f NS
t 1. 360 18, 400. 00 25,024
HHE(FEDHD)
= 1.000 26, 816. 00 4
& it E%8H :1.00m 3 26, 820. 00 26, 820
FEEMNEE HY FHIEMRE  EiEIERE[1.500]
FHE—IEEE 2L EEREAEIFIIC K ZH|IE : B L
ES . 1-6
& F : ERKEIRT 1B4Y
£ 5 g - BIRTiE BAf H = L= i & % i " =
597 }59% AtFE
A 1. 000 46, 210. 00 46,210
KA 3.0m3
A 1. 000 472.00 472
REFREH 25kVA
A 1. 000 4,120.00 4,120
KRy 7 O4%50mm  15F210m
A 1. 000 150. 00 150
HHE(FEDHD)
= 1. 000 50, 952. 00 8
& it E%82H : 1.008 50, 960. 00 50, 960
FEEMNEE HY FHIEMRE  EiEIERE[1.500]
FHE—IEWEE 2L EEREIAEIFIIC K ZH|IE - B L
&5 . 1-7
L MEBBIT (2477500 1LY
£ 5 g - BIRTiE BAf H = L= i & % i " =
HEBHEITO 27°30h
A 59. 000 198, 100. 00 11, 687, 900
MEBHEIO 47° 554
A 32.000 236, 500. 00 7, 568, 000
& it E%82H : 1.00=% 19, 255, 900. 00 19, 255, 900
FEEMSNEE L
FHE—IEHE 2L EEREEEIFIIC K ZHIE : B L
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&= :1-8
B 4FEEE

S FEEERAERFERERMBARTIE(F2R)

m3zY (Im3)

2 b g - BIRTE By H = B oO(f ® % # " =
EErR
m3 1.000 2,949.00 2,949
& Hi 1E%HEH : 1.00m 3 2,949.00 2,949
T EE L
FHE—REMHE : TL BRI AIFIRIC K BMIE : AL
&5 :1-9
%M JLaVEET 14y
2 b g - BIRTE By o = BHO(f ® 5 # " =
RKE+DS 1tH
= 2,943. 000 850. 00 2,501, 550
Ny ho-vigeft 1LFE0.8m3 2. 9tR (BEH X1
x) = 91. 000 68, 150. 00 6, 201, 650
TAR—ARHEER
A 91. 000 27,410. 00 2,494,310
HIHRIEXS
A 91. 000 24, 680. 00 2,245, 880
LTEEXS
A 91. 000 21, 840. 00 1,987, 440
HHE(FEDHDH)
= 1.000 15, 430, 830. 00 9,170
& Hi 1E%HeH 1,00 15, 440, 000. 00 15, 440, 000
T EE L
FHE—REMWE : TL R AIFIRIC K BMIE : AL
&5 . 1-10
&M JLaERT 1A%4Y
2 b g - BIRTE By o = BHO(f ® % # " =
h-vEE Ty ERR 4tF5. 2.9tR
B 1.000 52,310. 00 52,310
HIHRIEXS
A 1.000 37,010. 00 37,010
HHE(FEDHD)
= 1.000 89, 320. 00 0
& Hi 1E%HEH - 1.008 89, 320. 00 89, 320

FEEMNEE HY
FHE—IEWHE Tl

FHIERE - EHHERE (1. 500]

ErfROHIFI(C & BHEIE - 1L
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S FEEERAERFERERMBARTIE(F2R)

&5 . 1-11
£ HIFLTS Y MEM - BIAT BIFLE2E Y - IEED)
£ 5 g - BIRTiE BAf H = L= i & # i " =
TAR—AEtHEER
A 8. 000 27, 410. 00 219, 280
BREx£a
A 8. 000 24, 680. 00 197, 440
TEFEE
A 16. 000 21, 840. 00 349, 440
-vEEE Ty )EER 4t3E. 2.9tH
=] 8. 000 40, 130. 00 321, 040
HHE (R+FDHD) FHEED%
% 23. 000 766, 160. 00 175, 800
& it E%82H : 1.00=% 1, 263, 000. 00 1,263, 000
FEEMESEE L
FHE—IEWEE 2L EEREIAEIFIIC K ZH|IE - B L
BB . 1-12
& HIFLTS > MEART HIFLM2E Y + IEED)
£ 5 g - BIRTiE BAf H = L= i & # i " =
TAR—AgtHEER
A 4.000 27,410. 00 109, 640
BREx£a
A 4.000 24, 680. 00 98, 720
TEFEE
A 8. 000 21, 840. 00 174, 720
-vEEE Ay )EER 4t3E. 2.9tH
A 4.000 40, 130. 00 160, 520
HHE (R+FD) FHEED%
% 23. 000 383, 080. 00 88, 100
& it E%82H : 1.00=% 631, 700. 00 631, 700
FEEMESNEE L
FHE—IEEE : 2L EEREIAEIFIIC K ZH|IE - B L




BER-BI/ Avyr— SHSEEEMEAREBERRBRATE ($2R)

&5 :1-13
B GEATS Y MEN - BIAT 2750 MRV T
£ 5 g - BIRTiE BAf % = B & # = & &

TAR—AEtHEER

A 8.000 27,410. 00 219, 280
BREx£a

A 64. 000 24, 680. 00 1,579, 520
TEFEE

A 16. 000 21, 840. 00 349, 440
&

A 6. 000 24,570. 00 147, 420
TAR—AEtHEER w

A 12. 000 41,110. 00 493, 320
BREx£a w

A 96. 000 37,010. 00 3,552, 960
TEFEE w

A 24.000 32, 760. 00 786, 240
377b-v9b-y 25t . REIFY (%]

B 12. 000 52,200. 00 626, 400
HHE (R+FDHD) FHEED%

% 23.000 7,128, 180. 00 1,639, 420
& Hi 1E%HeH 1,00 9, 394, 000. 00 9, 394, 000
FEEMESEE L
FHE—IEWEE 2L EEREIAEIFIIC K ZH|IE - B L




BER-BI/ Avyr— SHSEEEMEAREBERRBRATE ($2R)

&5 :1-14
&M EATSUMEART 2750 MRV T
£ 5 g - BIRTiE BAf % = B & # = & &

TAR—AEtHEER

A 2.000 27,410. 00 54,820
BREx£a

A 16. 000 24, 680. 00 394, 880
TEFEE

A 4.000 21, 840. 00 87, 360
&

A 2.000 24,570. 00 49,140
TAR—AEtHEER w

A 6. 000 41,110. 00 246, 660
BREx£a w

A 48. 000 37,010. 00 1,776, 480
TEFEE w

A 12. 000 32, 760. 00 393, 120
377b-v9b-y 25t . REIFY (%]

B 6. 000 52,200. 00 313, 200
HHE (R+FDHD) FHEED%

% 23.000 3,002, 460. 00 690, 340
& Hi 1E%HeH 1,00 4,006, 000. 00 4,006, 000
FEEMESEE L
FHE—IEWEE 2L EEREIAEIFIIC K ZH|IE - B L
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S FEEERAERFERERMBARTIE(F2R)

&5 :1-15
ZF5 : Bk CHEKITS ) 1LY
2 b g - BIRTE BT H = B oO(f ® # " =
VIR Pt 10m3/h#k
B 160. 000 47,000. 00 7,520, 000
WP RERE %=
&R 1.000 862, 400. 00 862, 400
W RIS %=
&R 1.000 548, 100. 00 548, 100
WIBERHRT R
B 110. 000 50, 020. 00 5,502, 200
EifRE
= 1.000 560, 000. 00 560, 000
BINEREE
= 1.000 690, 000. 00 690, 000
EME (E+EDLDH) AL IBER 88D %
% 20. 000 7,520, 000. 00 1,497, 300
& Hi 1E%HeH 1,00 17,180, 000. 00 17,180, 000
T EE L
FHE—EWHE T L BERAFIRIIC R HHWIE - &L
&5 :1-16
L HELE 1LY
2 b g - BIRTE BT H = B oO(f ® # " =
PAC
k g 320. 000 200. 00 64, 000
o FaEHl
k g 4. 000 1, 350. 00 5, 400
bR
L 3, 543. 000 160. 00 566, 880
REEST R
k g 5. 000 240. 00 1,200
& Hi 1E%HeH 1,00 637, 480. 00 637, 480

FEEMNEE HY
FHE—IEWHE : TL

FHIERE - EHHERE (1. 500]

ErfROHIFIC & B4 - 1L
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S FEEERAERFERERMBARTIE(F2R)

&5 1-17
£ X HEAH BIER TIm3%Y
% [} I - BIKTE B B = B ® % i) " %
BLEAA T &R
m3 1.000 1,574 1,574
& &t {E%8EH : 1.00m 3 1.574 1,574
FHEEHRNEE HY FHIEfRE : EIEIEE[1. 500]
FHE—EEE : AL EREIMEIRIC L ZHWIE - HY [1.33] EEEE
&= :1-18
£ HELEW RIS~ RES Tm3%Y
% [} I - BIKTE Bifg H = B ® % i) " %
BB LB ~RES
m3 1.000 1,973 1,973
& &t {E%BEHN - 1.00m 3 1,973 1,973
FHEEMRNEE HY FHIEfRE : EiEIEE[1. 500]
FHE—EEE AL EEREIAEIRIC L ZHWIE - HY [1.33] EEEE
&5 :1-19
&M BISRAFUIER - B (TLaVR) FEYV—F~U0515 HZEP)
% [} I - BIKTE Bifg H = B ® % i) " %
BISAFyoiEA - Bk (TLavR) {EEY—F~05H15
= 1.000 11, 490 11, 490
& &t {EZ8ER - 1.00mE 11, 490 11, 490
FEEENEE G L
FHE—EEE AL EFRIRIFIRIC & BME : 2L
&5 :1-20
B EFREA GRELAIL)  EEVY—F Tm3%Y
% ] R - BIKTE Bifg H = B ® % i) " %
HEFREA FEILSZIL) EENY—F
m3 1.000 204.8 204.8
& &t 1EZ%BEHN - 1.00m 3 204.8 204.8
FEEENEE G L
FHE—EEE : AL EFRIRIFIRIC & BMIE : 2L
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S FEEERAERFERERMBARTIE(F2R)

&5 :1-21
L HEERER GBEILAIL) (FEYVY—F~0n15 Tm3%Y
2 b g - BIRTE L= vd = B oO(f ® % # " =
HREREER GRELZIL) EEY— K~0515
m3 1.000 1,530 1,530
& Hi 1E%HEH : 1.00m 3 1,530 1,530
T EE L
FHE—EWHE T L BERAOFIRIIC R AHWIE - &L
&5 :1-22
& BRISRAFvI0NE (JLa2R) m3KY (Im3)
2 b g - BIRTE = v = BHO(f ® % # " =
B’ RFvng
m3 1.000 8, 000. 00 8, 000
& Hi 1E%HEH : 1.00m 3 8, 000. 00 8, 000
FIEEEMIEE L
FHE—EWHE T L BERAOFIRIIC R HHWIE - &L
&5 :1-23
£ RBFELNE GRELZIL) m3KY (Im3)
2 b g - BIRTE = v = BHO(f ® % # " =
KRB ELDE
m3 1.000 13, 000. 00 13, 000
& Hi 1E%HEH : 1.00m 3 13, 000. 00 13, 000
T EE L
FHE—EWHE T L BERAOFIRIIC R BHWIE - &L
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Bffik-fEI/\vr—>

S FEEERAERFERERMBARTIE(F2R)

&S5 :1-24
B F  BH#RE  CPGHEH IEED)
£ 5 g - BIRTiE BT = B & # i " =
by 11t 10km
= 24.000 56, 000. 00 1, 344, 000
by 4t 10km
= 12. 000 46, 000. 00 552,000
by 11t 10km
= 6. 000 56, 000. 00 336, 000
by 4t 10km
= 6. 000 46, 000. 00 276, 000
by 11t 1200km
= 30. 000 481, 000. 00 14, 430, 000
by 4t 1200km
= 12. 000 390, 000. 00 4,680, 000
by 11t 30km
= 2.000 61, 000. 00 122, 000
-3 20t  10km
= 2.000 88, 000. 00 176, 000
by 4t 10km
= 6. 000 46, 000. 00 276, 000
by 4t 10km
= 2.000 46, 000. 00 92, 000
by 11t 30km
= 1.000 61, 000. 00 61,000
-3 20t  10km
= 2.000 88, 000. 00 176, 000
CPG7° 5v+ 21 V7" R E S I -E4m3/h
#EA 30. 000 34, 100. 00 1,023, 000
CPGH" v7° 8MPa, 1.8m3/h
#EA 60. 000 18, 200. 00 1,092, 000
EABVIMNEE ¢ 73mmfH
#EA 60. 000 10, 400. 00 624, 000
REXAEREE CPG-K100R
#EA 60. 000 5,120.00 307, 200
& Hi 1E%HeH 1,00 25,567, 200. 00 25,567, 200
FEEMSEE L
FHE—IEWHE Tl BRSO EIR (= & BRI - 1L
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S FEEERAERFERERMBARTIE(F2R)

&5 :1-25
£ WERBEA) BAE 1LY
2 b g - BIRTE BT H = B oO(f ® # " =
BhkE 1,000W 64T 2t
B 842.000 9, 600. 00 8,083, 200
B 1. 25
L 1,004. 000 136. 00 136, 544
EEiF (—H%)
A 41.833 43, 150. 00 1, 805, 093
B 1. 25
L 6, 024. 000 136. 00 819, 264
HHE (F50)
= 1.000 10, 844, 101. 00 5,899
& Hi 1E%HeH - 1.00K 10, 850, 000. 00 10, 850, 000
FHEEENEE - HY THIERS - EiEfEE (1. 500]
FHE—EWHE T L EERASIRIIC L BWIE - HY [1.33] EEEE
&5 :1-26
£ WEREQ) B 1LY
2 b g - BIRTE BT H = B oO(f ® # " =
Bk 400W 24T
B 842. 000 1, 920. 00 1,616, 640
B 1. 25
L 2,008. 000 136. 00 273,088
HHE (F50)
= 1.000 1, 889, 728. 00 272
& Hi 1E%HeH 1,00 1, 890, 000. 00 1, 890, 000
FHEEENEE - HY IR - EiEfEE (1. 500]
FHE—EWHE T L EERASIRIIC L BWIE - HY [1.33] EEEE
&5 :1-21
&% BEREE ) HIR2—TF 1 1LY
2 b g - BIRTE BT o = BHO(f ® 5 # " =
SEREH
= 1.00 163, 636. 00 163, 636
& Hi 1E%HeH 1,00 163, 636. 00 163, 636
T EE L
FHE—REWE : TL

13




B@ER-EI/\vr—>

S FEEERAERFERERMBARTIE(F2R)

&5 :1-28
2% BEREE Q) HIA2—TF 1 1LY
2 b g - BIRTE L= vd = B oO(f ® W = " =
SEREH
= 1.00 240, 000. 00 240, 000
& Hi 1E%HeH - 1.00K 240, 000. 00 240, 000
T EE L
FHE—REMHE : TL
&5 :2-1
W EER—Y S () #Bit P66mm 1BEY (Im)
2 b g - BIRTE = v = BHO(f ® 5 W = " =
THR—-) T (% 66mm) i+
m 7.00 217, 300. 00 191, 100
& Hi YEZHESN - 7.00m 217, 300. 00 191, 100
HRARES VY 1 MBS (o) :1.65 mMBEHARE (B) :1.20
&5 :2-2
W BEER—YS Q) #E-IE H66mm 1B&Y (Im)
2 b g - BIRTE = v = BHO(f ® 5 W = " =
TER—-U Y (% 66mm) #¥5tEL - 2L b
m 7.00 17, 000. 00 119, 000
& Hi YEZHESN - 7.00m 17, 000. 00 119, 000
HRARES VY 1 ARG (o) 1.6 MmBEHARE (B) :1.20
&5 :2-3
B BEER—Y DS Q) B-BEL ¢o66mm 1B&HY (6m)
2 b g - BIRTE = v = BHO(f ® 5 W = " =
TER—-U Y (% 66mm)fb - B0E L
m 6. 00 19, 700. 00 118, 200
& Hi YEZHES : 6.00m 19, 700. 00 118, 200

HARKS VY 1

R ARYE (o) :1.65

14

mE#ARYE (8) :1.20




B@ER-EI/\vr—>

S FEEERAERFERERMBARTIE(F2R)

&5 :2-4
£ EEEARR B -MEL 1B%HY (10[@)
2 b g - BIRTE L= vd = B oO(f ® W = " =
REEHR EEEAHR) m-wEt
[=] 10. 00 12, 600. 00 126, 000
& Hi 1YEZHES - 10.00[H] 12, 600. 00 126, 000
HRARES VY 1 MBS (o) :1.65 MmBEHARE (B) :1.20
&5 :2-5
& YEHER 1stmy
2 b g - BIRTE = v = BHO(f ® 5 W = " =
LD HT #tH
& 15. 00 13, 000. 00 195, 000
RIERRR
& 1.00 7,570. 00 7,570
MR
& 1.00 3, 660. 00 3, 660
& Hi 1E%HeH 1,00 206, 230. 00 206, 230
HRARES VY 1 ARG (o) 1.6 mMBEHARE (B) :1.20
&5 :2-6
%5 FrEEE 1LY
2 b g - BIRTE = v = BHO(f ® 5 W = " =
HhE A A
A 3.00 53, 800. 00 161, 400
FEMERES
A 1.00 39, 100. 00 39, 100
MERES
A 1.00 29, 100. 00 29,100
& Hi 1E%HeH 1,00 229, 600. 00 229, 600

HARKS VY 1

R ARYE (o) :1.65

15

mEHARE (8) :1.20




B@ER-EI/\vr—>

S FEEERAERFERERMBARTIE(F2R)

&5 :2-1
2% BB 1B&Y (2FF)
2 b g - BIRTE BT H = B oO(f ® # " =
EIHRRIS
&R 2.00 84, 400. 00 168, 800
& Hi 1YEZHED : 2. 00 FRr 84, 400. 00 168, 800
HRARES VY 1 MBS (o) :1.65 MmBEHARE (B) :1.20
&5 :2-8
£ XBE 1X=Y
2 b g - BIRTE BT o = BHO(f ® % # " =
REE 5S4 kY 2L
B 5.52 3,276.00 18, 083
M £ NOY)
% 0.50 18, 083. 00 90
& Hi 1E%HeH 1,00 18,173.00 18,173
HRARES VY 1 ARG (o) 1.6 mMBEHARE (B) :1.20
&5 :2-9
B EAERR 1LY
2 b g - BIRTE BT o = BHO(f ® 5 # " =
gL—oft b3Sy 4t35 2tH
B 1.00 38, 476. 00 38, 476
MERES
A 4.00 29, 100. 00 116, 400
MR YEIBEE D%
% 0.50 154, 876. 00 174
& Hi 1E%HeH 1,00 155, 650. 00 155, 650

HARKS VY 1

R ARYE (o) :1.65

16

mEHARYE (8) :1.20




BfR-BEI/\vsr—>

S FEEERAERFERERMBARTIE(F2R)

&5 :2-10
£ EENERR 1X=Y
2 b g - BIRTE BT = B O ® % # " =
HhE A A
A 0.50 53, 800. 00 26,900
REE S4 kY 2L
B 0.50 6, 386. 00 3,193
& Hi 1E%HeH - 1.00K 30, 093. 00 30, 093
HARES VY 1 RefAEE AR (o) :1.65 MEHARE (B) 1.20
= 2-11
&% AEARAE EGIER
2 b g - BIRTE BT = B Ol ® % # " =
FHEFLEAE [REEZE]
5l 1.00 9, 000. 00 9,000
& B 1YEZHED 1. 00 FRr 9, 000. 00 9, 000
HARES VY 1 iM% (o) :1.65 MEHARE (B) 1.20
&5 :2-12
2% EIEEE 1LY
2 b g - BIRTE BT = B Ol ® % # " =
EIEEE
= 1.00 5,332.00 5,332
& Hi 1E%HeH 1,00 5,332.00 5,332
HARES VY 1 it A%RE (o) :1.65 MEHARE (B) 1.20
&5 :2-13
28 BEREH 1-TF« 1x5Y
2 b g - BIRTE BT = B Ol ® % # " =
SEREH
= 1.00 12,272.00 12,272
& Hi 1E%HeH - 1.00K 12,272.00 12,272
HARES VY 1 IRt A®RE (o) :1.65 MEHARE (B) 1.20

17




